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   

  

               
                   
             
                   
                   
                   
             
 



       

                 

                    
                       
                 
                    
                  
   

 

Rewrite as x^5-2x^2-3=0 to turn into root finding problem, then use

roots([1 0 0 -2 0 -3])

function out = fun(x, a)
out = x.^(1/3) + cos(x) - a*x

a = 0;  % OR a = input('a: ');
while (a<=2) | (a>=10) % OR while ~((2<a) & (a<10))
     a = input('a: ');
end

fzero('fun', [0 1], optimset, a)



  
    

       

                    
                  
             

                    
                 
              
      

final ftol = |f(x(3))| = 0.006434
final xtol = |x(3)-x(2)| = -0.14931

x(1) = 2, x(2) = 3, x(3) = 2.5

final ftol = |f(x(3))| = -0.3011
final xtol = 0.5*(x_r(3)-x_l(3)) = 0.5



  
    

     

        

   

   









       

 

 
   
   

       

   

   

   

  



  









        

     

        

1
2
End of loop and i is 3

%note - break happens when i is 3, so the 3 does not 
get displayed, but i remains 3 when the fprintf happens

1 0
1 0
1 1
0 1

% Note - size(A,1) gives number of rows, size(A,2) gives number 
of columns; also note x(j,i) in the program

radius = [sqrt(5) sqrt(8) sqrt(18)] %or
radius = [2.236 2.828 4.243]



  
    

       



    

          

     

               
 

 

 

 

 

 

 

 

 

 

       

(1) 
a = norm(x, 1)
a = |3| + |-4| + |4| = 11
(2)
b = norm(x) %OR norm(x,2) %OR norm(x, 'fro')
b = sqrt(3^2+4^2+4^2) = sqrt(41) = 6.40
(3)
c = norm(x, 'fro') %OR norm(x,2) %OR norm(x)
c = sqrt(s^2+4^2+4^2) = sqrt(41) = 6.40
(4)
d = norm(x, inf)
d = max(|3|, |-4|, |4|) = 4
(5)
e = mean(x)
e = (1/3)(3-4+4) = 1
(6) (standard deviation)
f = std(f)
f = sqrt(sum((3-1)^2+(-4-1)^2+(4-1)^2)/2)=sqrt(19)
(6) (sum of squares of data residuals)
f = sum( (x-mean(x)).^2 )
f = (3-1)^2+(-4-1)^2+(4-1)^2 = 38
(7)
g = norm(A,1)
g =max 1 norm of columns, so max(12, 16, 18)=18
(8)
h = norm(A, 'fro')
h = sqrt of sum of squares of element vals, so
sqrt(25+16+9+4+36+64+9+36+81) = sqrt(280) = 16.7
(9)
i = norm(A, inf)
i = max 1 norm of rows, so max(10, 16, 20) = 20

j = cond(A, 1)
j = norm(B, 1) * norm(inv(B), 1)
norm(B, 1) = max 1 norm of cols of B, so max(3, 7) = 7
inv(B) = 1/9 [5 -2; 2 1]
norm(inv(B), 1) = max 12 norm of cols of inv(B), so max(7/9, 3/9) = 7/9
j = 49/9 = 5.444



  
    

     

          

    

     

    

                    
               
           

               
            

          

   

   

                   
          

                
     

            
                

M = [1 4 -7; 2 -5 8; 3 6 -9];
y = [10; -11; 12];
a = M\y; % OR a = inv(M)*y
p = a(1);
r = a(2);
s = a(3);

cond(M) %OR cond(M, 2)



  
    

    

              
       

       

      

           

    


                  
         

           

    

            

        

    

              
               

(1)
M = [x exp(x)]
a = M\y;
a1 = a(1);
a2 = a(2);


